- 2.2 Gyroscope
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- 2.3 shapes with loops
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zumi.forward()
4
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- 2.3 shapes with loops
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# ezt 2|7
initial_angle = zumi.read_z_angle()

for angle in range(0, 271, 120):
zumi.forward(40,1,initial_angle+angle)



- 2.3 shapes with loops
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# Q2td 2|7|
initial_angle = zumi.read_z_angle()

for angle in range(0, 289, 72):
zumi.forward(40,1,initial_angle+angle)

# Czty 12)7)

polygon = 5

angle = int(360/polygon)
initial_angle = zumi.read_z_angle()

for angle in range(0, (angle*polygon-1), angle):
zumi.forward(40,1,initial_angle+angle)



- 1.3 light
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- zumi.all_lights_on() : 2= 20| E HD|
« zumi.all_lights_off() : 2& E}OIE 02|
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- zumi.headlights_on() : & 2t0|1E HD|
« zumi.headlights_off() : &% 2l0|E 11D|

« zumi.brake_lights_on()
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- 1.3 light
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« zumi.hazard_lights_on() : 2 2}0|E 2+tQ| D]
« zumi.hazard_lights_off() : 2 cl0|E ZwQo| 10|

« zumi.signal_left_on() : &% ct0IE Z%0|D|
« zumi.signal_left_off() : &% cl0|E Z%0| 17|
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« zumi.signal_right_on() :
« zumi.signal_right_off() :




- 1.3 light
2}0| E
#ZF0|9| R =LEDE3X=QCr7{ 11117
zumi.all_lights_on()

time.sleep(3)
zumi.all_lights_off()

#720|0| RE LEDE 38 111 77| Hhe

for angle in range(0, 3):
zumi.all_lights_on()
time.sleep(1)
zumi.all_lights_off()
time.sleep(1)

#signal_right_on() / signal_ right off()
M2 0|31 F0|7f QE|HS & 0 MSE LENIEE sjuu Q.

#HTISID HABMM HHO|I502 MSE LIEHIEE sjEH 2.
brake_lights_on() / brake_lights_off() /
time.sleep() BHZ20|E3IM 2.



- 5.2 Robot Emotions
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- 5.2 Robot Emotions
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for i in range(3):
screen.sad()
time.sleep(0.5)
screen.close_eyes()
time.sleep(0.5)
zumi.reverse(5, 0.1)
zumi.reverse(5, 0.1)



- 5.2 Robot Emotions
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for i in range(3):
screen.blink()
zumi.play_note(49, 20)
zumi.play_note(50, 20)
zumi.play_note(51, 20)
zumi.forward(10, 0.1)



5.2 Robot Emotions

¥ 5 Z2:2Y

tempo = 80
zumi.play_note(Note.C4, tempo)
zumi.play_note(Note.E4, tempo)
zumi.play_note(Note.G4, tempo)
zumi.play_note(Note.C5, tempo)
screen.sleeping()

tempo = 100
zumi.play_note(Note.B5, tempo)
zumi.play_note(Note.AS5, tempo)
zumi.play_note(Note.A5, tempo)
zumi.play_note(Note.GS5, tempo)
zumi.reverse(10, 0.1)
screen.glimmer()

time.sleep(0.5)

zumi.play_note(Note.C6,tempo)
screen.sleepy_eyes()



- 3.1 IR Sensor
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- 3.1 IR Sensor
- XQIM MN
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- 3.2 obstacle Avoidance
- Hof=E 2]

for i in range(20):

ir_readings = zumi.get_all_IR_data()
front_right_ir = ir_readings[0]
front_left_ir = ir_readings[5]

if front_left_ir < 100:
print("something on left")

elif front_right_ir < 100:
print("something on right")



- 3.2 obstacle Avoidance

- goi= =\

# ol & 2|m|st7|

for i in range(50):
ir_readings = zumi.get_all_IR_data()
front_right_ir = ir_readings[0]
front_left_ir = ir_readings[5]

if front_left_ir < 100 and front_right_ir < 100:
print("something ahead")
zumi.stop(0)
time.sleep(0.5)
zumi.reverse()
zumi.stop(0)

elif front_left_ir < 100:
print("something on left")
# 01710 2l 2N L.

elif front_right_ir < 100:
print("something on right")
# 7|0 ZES| EM Q.

# 0170 25 EN Q.
time.sleep(0.05)

zumi.stop(0)



- 3.2 obstacle Avoidance
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# Mot = e 5= 2=

for i in range(50):
ir_readings = zumi.get_all_IR_data()
front_right_ir = ir_readings[0]
front_left_ir = ir_readings[5]

if front_left_ir < 100 and front_right_ir < 100:
print("something ahead")

elif front_left_ir < 100:
print("something on left")
# 07|10 ZES| EN K.

\

elif front_right_ir < 100: e
print("something on right")
# 04710 2 EM K.

\

# 7|0 ZEH| EN L.
time.sleep(0.05)

zumi.stop(0)



- 3.2 obstacle Avoidance
- Bl E2||0] M

while True:

ir_readings = zumi.get_all_IR_data()
bottom_right = ir_readings[1]
bottom_left = ir_readings[3]

zumi.go_straight(10, 0)
if bottom_right > 100 and bottom_left > 100:
zumi.stop(0)

print('stop’)
break

time.sleep(3)



- 3.2 obstacle Avoidance
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- 3.2 obstacle Avoidance
- Bl E2||0] M

# 2 FTH ZF ufd

zumi.reset_gyro()

while True:
ir_readings = zumi.get_all_IR_data()
bottom_right = ir_readings[1]
bottom_left = ir_readings[3]

zumi.go_straight(10, 0)

if bottom_right > 100 and bottom_left > 100:
zumi.stop(0)
print(‘"U-Turn')
zumi.right_u_turn(step=6)
print(‘'stop’)
break

time.sleep(3)
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zumi.reset_gyro()

count = int(input("input count : "))
blackFlag = False

while count > 0:
ir_readings = zumi.get_all_IR_data()

bottom_right = ir_readings[1] Detect Detect
if blackFlag == False: i . l stop
if bottom_right > 100: = = i -
blackFlag = True Ill '-l

elif blackFlag == True:
if bottom_right < 50:

count = count -1
blackFlag = False

zumi.go_straight(20, 0)

zumi.stop(0)

+~ I



- 3.2 obstacle Avoidance

- I EZ0|M

try:
zumi.reset_gyro()
init_ang_z = zumi.read_z_angle()

# ME BO{LIH threshold /2 ==X s8{E M 2.
threshold = 80 # 7|& MA{| Z}

turnSpeed = 3  # 3|TA| £ &

turnAngle = 3 # 3|H Zt

while True:

# MA 97|
ir_readings = zumi.get_all_IR_data()
bottom_right = ir_readings[1]
bottom_left = ir_readings[3]

# AZM & Q2 MM AWM UX H FL2 > HT
if bottom_left > threshold and bottom_right > threshold :
zumi.go_straight(turnSpeed, init_ang_z)

# AZM MM ZPN 2| 2 P > QEZOE W 3|
elif bottom_left > threshold :

init_ang_z+= turnAngle

zumi.go_straight(turnSpeed, init_ang_z)

H

# QEZ MM AWM ZX| B FQ -> AZOE W T
elif bottom_right > threshold :
init_ang_z-= turnAngle

zumi.go_straight(turnSpeed, init_ang_z)

except KeyboardInterrupt:
zumi.stop(0)
print("The interrupt button was pressed.")



- 3.2 obstacle Avoidance
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#Lline Tracer (2B ZHEES A3} 2RI E G 0| A)

try:
threshold = 100
turnSpeed = 10
forwardSpeed = 10

while True:

ir_readings = zumi.get_all_IR_data()
bottom_right = ir_readings[1]
bottom_left = ir_readings[3]

if bottom_left < threshold and bottom_right < threshold :
zumi.control_motors(forwardSpeed,forwardSpeed,0)

elif bottom_left > threshold and bottom_right < threshold :
zumi.control_motors(turnSpeed,0,0)

elif bottom_left < threshold and bottom_right > threshold:
zumi.control_motors(0,turnSpeed,0)

elif bottom_left > threshold :
zumi.control_motors(turnSpeed,0,0)

elif bottom_right > threshold :
zumi.control_motors(0,turnSpeed,0)

except KeyboardInterrupt:
zumi.stop(0)
print("The interrupt button was pressed.")



